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® Fluids (wlul) : blood, water, oil, coffee, tea, gasoline....

® Foods (la¢) : rice, sugar, fruit, milk, bread, butter, cheese ....

® Raw materials (s> sls) : WoOd, paper, glass, iron, silver, wool ....

® Gases (»;15) : oxygen, nitrogen, air, pollution, steam....

® General (s0¢) : furniture, mail, money, traffic....

® Academic subjects ( al%zils sloais ) : chemistry, mathematics, physics, psychology, linguistics....

® Languages (L5 : English, Chinese, Japanese, Spanish ....

® Abstract things ( /5=l w2lie) : education, health, beauty, intelligence, knowledge, sleep, hope, music, time....
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aboy = boys = four boys
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Statistics is a branch of mathematics. ol Lol 5l glasle Ll

To me, physicsis afascinating subject. el ol ad ) ST b ey 5 5
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Severa police wereinjured during the rioting. Hd pgdas e b s i

At least 40 people were killed. Had asS e Fo il
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2. Example 1: The people attending the MBA conferencein Tehran arenct .......... .

1) mathematic's professors 2) mathematics professor
3) mathematics professors 4) mathematic professors

D Sleol ) gl jgudy S o S 0 s 0 MBA ilas 0 a8 ol 8« a5 il M
s Jlte 4 il o b o0 PrOFESSOr c/ o> PEOPIE 5> , MAthematiC « w55, MAthematics /, st ole :1640158 zuagi
S Ay

Theboyisateacher. = The boys are teachers.
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The boy is 25 years old. The boy is married sl Jolie p 1010 oo JLo YOy ]
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The boy is 25 years old. Heis married. el Jolo 515,15 ps Jlo YO youss 5T
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S yho =
e Jgl me us
A P90 you you

b eew | him/her /it | them

Heloves me.
We buried him.
Between you and me (ret}), he is smoking.
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2. Example 2: Moby Dick isa mythical account of evil and revenge as shown by Captain Ahab’s pursuit of

thewhalethat had wounded ......... earlier in life.
1) he 2) his 3) him 4) to him
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Learning English is easy for us.
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7= Example 3: For they, the most rewar ding shipwreck found was the HM S Associated.
1 2 3 4
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The purseishers.

S yho &
o Jgf mine ours
RS 09O yours yours
PE 0 guw his/ hers theirs
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| couldn't work in Mary'sroom. Hersis even smaller than yours or mine.
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Whose book isthis? This book is mine. el o Jlo SUS Sl oS ax Jlo LS (!
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s Js myself ourselves
PSs pgd your self your selves
s pew | himself / herself /itself | themselves

You yourself answered the telephone.

Y ou answered the telephone yourself. (63ls Olgz il 4 Dog ¢
Y ou yourselves are the guilty ones. Ad paie Lo 35
He himself takes care of the baby. A o Sl ye a5l pogs
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They amused each other by telling stories. Q30,5 05 1) SKoen o yliwls b Ll
Many witnesses contradicted one another. Al O plie o b laasls
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(ol It's eleven o'clock. el VY el
(alold) It's two miles to the town. el 0dile yo 40 Jilo g0
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There are two ways to do it. 3,10 8939 o) ols plil g1y ol g0
There seemsto be two reasons for her success. ol 451 3925 ol CudiBga (sl JIS 90 oy o i 4
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Correct: There'salot of crime now in the city center.

Incorrect: It'salot of crime now in the city center.

313 3529 D 35 e 53 ol ol pol> S o
Correct: Thereisn't much room inside his car.
Incorrect: It isn't much room inside his car.
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Incorrect : My at; A 0 3
Correct : My teacher said that “listen to the news on the radio in order to practice listening comprehension”.
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2. Example4: | wasvery shocked to see how much my grandmother she had aged sincethat last time we visited.
1 2 3 4
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2. Example5: The plantsthat they belong to the family of Fernsare quitevaried in their size and structure.
1 2 3 4
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The man died./ He has arrived./ shekilled the rat. e ] oo (S5 Ja3 b Jels
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My wife sent me aflower Sl 5 e Gl ppaned
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Send, bring, cook, buy, make, give, lend, sell, tell, post etc. oS oo 0Ll Loy T I lodigas 0 bxis] J0 i 0l ; Li0Nars
1. We gave them a Chrismas card. 02Ol ot 5 5 i 40 Lo
2. He bought his mother some flowers. 3 S 50l sl ol
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My wife sent aflower to me // We gave a Chrismas card to them // He bought some flowersfor his mother.
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1. | asked her alot of questions, but she didn’t answer. S Olgz gl Jg poww (6 lbows Yl gl 5l ye
2. He always went to the same park every evening. Edyoo b Hled 4 b jplsslam dicen 4f
3. We won agold medal last year. 20 0di p M Jloe G aidS Lo

Wigl o0 ARDAS 25 (P95 99 3 (S 4 o Jad

b Lo b ol 4 Jelo (o 4y sl o B8 (B9 e 2 Lo b sy i L3I o lecil |, €D €l &5 el 550 cal 4 ol b9
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Jebb + Jlo ol Job

1.1 see himin the class every day. PETP L I TIRT
2. The sunrisesin the East. A5 e gl 5y 5l o e
3. I run every morning. P30 sh T B (o
4. The bank opens at 8:00. QIS o, 9,8 A el S
5. You have abrother. Sl ol SO o

oS oo o3liiul By oole o 5l asl €B L « 9 ol e b ail osle SelS b b wyT e Jelbb 5l am Jbo by j0 a5 b a5 0y bews bl o
39 o0 o3liiwl Loy —ESL =S olen > 5 (0 5 ¥ ) slaJlie Jio) aib they L we you d el jas & g0t b cosl gos oul ¢ Jelb a5
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Jeb + Will + J28 ool JSi

He will do the job well. 2l anlgs plowl og3 a1y 15
We will stay home tomorrow. Aile pualys Al o 18,8 L
| will eat lunch at 12:00. 2,95 poly> b VY celo e
You will win therace. | know it. oIS o oy 0 olys |y ablue o

72 Example 6: During the two centuries between Hersche and Voyager, rdatively little is learned about the Planet
1 2 3 4
Uranus.
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Jeb + was/ were + =3+ ing

He was watching TV when | went home last night. 0,5 oo Liled (ygapooli culs gl o) il a4 ot By
| was making many new friends at the Olympic village. P o Cawgd Somall 00850 4 (6l o131 b pils e
While | was taking a shower, the telephone rang. 03 K53 oyali (03,5 oo D90 pbls 45 aBge
While you were speaking, | was not working. 20,5 oo ) e 03 S o o Autils Lads By
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Je+ am/is/are + J=8ing

| am reading a novel right now. it oy o ailgs b 0 98T oy
Heis studying English at the present time. ol eSSl gadlllan > o pol> S 0
They are playing ping-pong now. s S K 63k b 0 oeST Ll
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Jebs + shall / will + be + ad sslw JSb + ing

Thistime next week | will be studying for the exam. S eolys el (gl addllas Jl 10 (e @Bge (e oo | atin
They will be bringing up their kid this time next year. Dy aslgs Lsass B S Son o Ll Sl o 0 e Jlo
Ol Dol o8 oo Wi axgie 4 slorT (sl ;K0 b S il sdegd | 6yl (slagyle b asl sla ey lis ayly Y YU (sla e (o b
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| watched TV yesterday (ssls 4:235) | waswatching TV yesterday. (| yoc! a235)
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Jels+ had + b pgus eanudd (PP)

When | came, they had eaten lunch. Aagr 03,95 ol Loyl pael (re a5 2By
When Sara arrived at the party, Paul had already gone. Dy aid,y sl s, Sloge @ Lo a5 e
She had just left when | arrived there. Dg00,5 S5 1y T o3l gl cposm, oyl 4 By
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Je + have/ has + (PP) Jz8 pguw caouud

1. The city centre has altered beyond recognition. s bl BB oS sl 005 o iz 0l 35 e
2. He has worked for 5 hours. ol 03,55 el O S 4
3. They have walked since this morning. Dilos) pad s 5l oy
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2. Example 7: Even though a member has ate too much the night befor e, the counselorswill try to convince
1 2 3 4

him or her to stop eating again.
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Mozart was an Austrian musician. He lived from 1756 to 1791.
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It always rainsin November. Sbioe ol paalys yo Ao
Yefe Yoo Jio wlossls s a5 ola Lo b g 1N the future .next year / week tommorow (s> SLds b olej ool soolw saisT boj
o .J.‘)‘"u;z g

We will stay home tomorrow. Sile pualys Al o 18,5 L
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| am looking for ajob at the moment. e Jid Jlis 4 pol> b o
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| was listening to the news while she was reading a book. 28,5 o0 55 Ll pidlo e il o SIS Cuilo ol By
When she came back, we were watching TV. 28,5 Loled g9l musls Lo Sy ol 34

s s fOr since @ready Juo odle L Ygons oloy ol :JolS Jlo o
I have lived in the United States since 2000. plos S Faij eamite VLI 4o Yooo Jlu sl e
| have lived in the United States for 13 years. plod,S (S5 ez SV 4o Jlo VY Soe 4 e
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72 Example8: Theproperty wasours. It ......... tous.
1) belongs 2) belonged 3) belonging 4) does not belong
ogle Jlo g iy 3l Loay olls «V» 433 15wl M
o "Delonged” wisus ¢ sod oo pg0 dlos fuS o] 4ridS gl alax xS 5> 16 HOIIS Zuadgl

72 Example 9: Hewasworking in the officewhilel ......... in thelibrary.
1) was 2) am 3) had been 4) have been
o S 5 0 45 By s IS ol yia 780 55 51 €O a8 ety M
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72 Example 10: The popularity of gametheory hasvaried......... €conomics. AV 55— 4l pole - pwiige 5 ()
1) to beintroduced by 2) in order to introduce into
3) sinceitsintroduction into 4) from its introduction by
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2. Example 11: With its radiant color and plantlike shape, the sea anemone ............... a flower than an
animal. AF S0 yo— 659les - Sl pole)
1) looks the same 2) islooking more like
3) looks more like 4) islooking the same
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[t may raintonight. Jels + Ko Jad + Lol Jud + (Jgzio)
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He can speak English = He can not speak English :Jle
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He can speak English = Can he speak English?
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| was not watching TV. // | am writing aletter e
S o3l oo (ol Jab plgieas puilgs oo (SeST Jad (nl 5l a5 Sl Al
Heistwenty years old. // The book was mine. e
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| have washed the dishes. //  Hasthe boy finished hisfood? // They had not watched TV.
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| have a book. Il They have adog. ;b
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I will talk to my boss tomorrow. 0,5 walg Cummo g, b 18,5 oy
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The boy studies English. Alg3 o (ol s
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The boy does not study English. 1 Does the boy study English?
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The boysstudy English. =  Theboysdo not study English = Do the boys study English?
Aol did wb (S8 a8 0SS soliiw] (KaS loJad opl 5l sl axsdS Jad ooy 31 oS cds

The boy studied English = The boy did not study English = Did the boy study English?
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Rowling did not write Harry Potter.
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He cans sing. x

He can sings. x

Hemay cansing. x

He can sing. v
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can, could, may, might, should, ought to, must, have to, had to, had better, used to, would ...
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Canyou speak English? ¢ 5 como oSl Sl e LT /1 YOU CAN SWIM, CAN'tYOU?  Seuns jobipl o 5 L Jlgia
Canl ask you aquestion?  §puw,w bos 5l Jlsw ol o /1 Can | help you? SiS LSS wilgs oo
€ g nlyi oo epinnslys o S ygots I (e 4042308 loj 5o Jg aw oo lii |y blyy o el CAN e Gads T 0,5 sl sCOUID - Y
283 o L |y Canlgs 8 g 05l g ol CAN 0ls 35 (3 0 )5 Crangd D9 oo doz 3
Could you speak English 3 years ago? &S oo owdSil  sslyd oo i Jlo aw L]
Could | open the window? oS 5L 15 0t oyl o5l
ol o)l s 50 €] (S s s o8 bl 0,5 5 Wisd o a3 €l (Sod &gty (SaS (slaJes ol iMigGt g May ¥
1m0 o0 Ol ) ol oo (Jloizl oo (S
It may / might rain tonight. Sk ol el (Sew caiual
May / might | go out of class? Spor o oo 5 el Se
oms e ol |y Ll 45 sl 5,90 50 SHOUND 4l .l oo )5 €aul? o o T 5,015 5 Conl €0yl ne 4y SwS b o) :ShoOUID %

Y ou have fever, you should visit your doctor. BUEUOUN JRC SRV PP R
Thetrain should arrive now. (Do Y1 5B a5 09, o HUl) im0 5UaB b (Y] Craen
Next, you should mix eggs. S S 5 ) o paest Wl s
W)l g9 cnl ol should a5 g )lal e Jg eenl (o)l €yl Jie lads S s 90 ol thave to gmust -6

Y ou must obey traffic laws. S Coley 1y ygr0 g yeee cilg b Lo
Y ou have to obey the law. &S caley 1y gl Wb
B950e0 S 4 AL ey 3y90 50 Jy el NAVETO g MUSE S5 slo a3 Jo Lids oo had tO S5 b

| had to get up early. Pl 895 o 45 p3gr Hgazme
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Y ou ought to study harder. (Slgze wyd psar Cal e
It might rain. We had better take an umbrella. JPUUUI SO [ 7SR DR PRI IEX OON
Itis5 o' clock. We had better leave now before it gets dark. 29 o998 S, a5 Sl i el O el

95 35 ) 9o 4 | YU OMes wilys oo JdS e 4 s ShOUI e lids (SaS™ Jab g0 ol
Y ou should study harder
It might rain. We should take an umbrella
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used to + solw J=é

When | was achild, | used to ice skate. (e sod plmil 1) )5 opl o0 Jg) o5 Sl o (g9, pidls Sole pogs azu SBs
| used to smoke, but now | have stopped. 100,55 Yl Lol ot K piislo Sole ye
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didn't + use +t0 + J=é

| didn't use to go to school on foot every day. (oS o 1y )5l 03ST) oy das e 4y 03y 39, o s ole LS e
slaasle b oYl slacsle 390 50 padlyie 31V aib ool b w2 wlge o] 5l dn a5 Jad 5 04 oo ooliinl 41335 slacsle gl USEA 1Oy
aied Jad DEUSEA 1O 1 ey sl 45 el Cls oS o o0l DB USEA 1O 5l el o ) §ouiS oo ot 43552 oS’ Camo o 3o

) O ygeds ] 0ING & g0

be + used to + ,lsing J=é

| am used to driving in London now, but it was hard at the beginning.
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Would you shut the windows please? Savain | ooty S o cilal
o2 (e Sl pl oS o sy JlsadlS w2 1) G )l wdal g 5 51 92 9 Sgu g0 o3l p.mWOU|d rather irES W) aswould wus cés
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1090 o0 oolaiuwl 5 6a8 3l cadas plol b vy plxil 1) 6,5 S 395 vaw Fus i alos JelbB 51 ()

Jeb +would rather + Ji sslw Jsi (10 ¢y909)

| would rather stay home and do my homework. o2 bl 1) (a5 5 piles A5 10 020 0 gz 5
If you don’t mind, I’ d rather not go. P95 B 0 gu i )l JISal S
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\ Jes+ would rather (that) + v Jeld + aiids oyloj Js

I'd rather that students made appointments instead of dropping by.
ols 00 &SI L asS Kalon lgoiils a5 w20 0 =5

My roommate would rather that | didn’t keep the lights on after 10 o’ clock.
20K g,y |y gl Vo celu 3l as a5 aao oo e 5 ol BT oo
50 &Sl g atidS ley ;500 6ol yo g sl eolw Wb SIS o s-.\.b“‘l—tsn would rather 3las a5 e g0 Q] a5 adl odds axgle b yeST
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(might 5 could Should a5 Jab s ooy asils | comes 0ol 5 s (SoS sloded @ g2, |y iS5 (8T 20503 4650 EE@\
25 D ygos i il NAVE + PP L s

should / could / might + have + PP

b ee o Ko p b ad 3 Lol 4 T o &g 43S 0 s ee a5 848 oo eoliul 8 ShOUld have + PP x Jol jsle -
WS 280 ez 5 5 5 slalie 4 453 g0 M K5l go MY (8 o L Hie 355 o0 dar 7 435Kl 5 438,55 Ll 48 5 o0 050
Now it’slate. Y ou should have seen the doctor yesterday.
{snd (J9) shdss jens 1) S0 wb ¢ el o (951
| have a stomachache. | shouldn’t have eaten too much.
(2,05 (J9) 3,550 3Ly Wl pylo 0,0 o
ol 1) LS S plovl bl axidS o Lo 095 b cated 0 g0 pudlys o 45 890 s ooliinl 28 COUID haVe + PP iw pgs sl -
1S 285 ez 5 g by Jlie 4y e g €5 Cpnile niadlgi o €S Zle ] pinslys oo Moo 1395 oo doz 5 v AigKin] a0l plonil s
| could have married anybody | wished when | was young.
(p0,55 L) oS Zlgo ] sy oo pinslys (o0 &5 (S 2 b pogr Gl (B
| was free last night. | could have gone to cinema. (585 J9) pgy Lot & pindlyi o -pO90 )50 oo
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| could have helped her if | wanted to. (3,55 SaS Jg) o5 S8 gl s il oo epionly o ST

aeoie o 3 Le g osledl 3lisl a8 o Yatol 6502 <o maasS madlss oo 45 395 oo ooliziul i35 Might have + PP i pge sl
S 4z g ladez 5 g b Jlie 4y ol lelo]

He might have taken the wrong train.
| can't find my keys. | might have left them in the car.

AslAS L sl o 1 LT auls oS o 1) malaacdS (iles oo
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| can’t find my keys. | must have left them in the car.
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Ali saw Reza. oyl e
Reza was seen by Ali. Aoy e lawg Lo,

Yo ol oas plosil a5 ol oe o8 WES SEEN 4 o iy REZA pgo Jlie 1o Jg .ol |15 035 pdy o REZA 5 15 cais Al Jsl Jlia 5o

e S 2B 51 Sz el Jsaame pgo Jlie g palee Jsl Jtko 1al o S aly Sl Jspme Jlie p30S 5 polas Jlio plaS Lo L o,
2,5 o3l ad Jab 5l pgd JUe dez 5 3 (Jg )l b e gl Jle 4oz 5 )3 45 dgd o
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The police arrested the burglar. 2,y |y &)l ey
The burglar was arrested by the police. IRVJUC ORI PR SSVS 5 WY
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Heiswalking in the park.
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72 Example 12: When the technique known as gene-splicing ......... intheearly 1970's, it wasfeared that the

scientists might inadvertently create an " Andromeda strain”, a microbe never before seen on Earth.
1) wasinvented 2) which invented 3) they invented 4) invented
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All the new words were looked up (by him).
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PN Example 13: It should not be assume that the lower the price, the happier the buyer.
1 2 3 4
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[ am/is/are+ PP ] = :Jogas (sosl Jla

[ was/ were + PP ] e :Joans sosbn (sATHAS

[ will + be+ PP ] —> 1Jog0s 503w (5o3iyT

polro Jome
4 | do agood work. v J& o A good work is done.
w30 il 093 IS Sy e Rgbon plnil 093 5 S
4 | did agood work. ool 335 A good work was done.
4+ | will do agood work. oslwoan] A good work will be done.
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[am/is/are+ being+PP] = :Jogas (s)lyaiwl Jla
[ was/ were + being + PP ] = :Jogns )l saihis
[ will + be + being + PP j = 10608 (5)lyoTw) (sosisT
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| am doing a good work. &l J A good work is being done.
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| was doing a good work. &)l il 42235 A good work was being done.

By 8 pm tomorrow, | will be doing a good work. 5l yadl o] By 8 pmtomorrow, agood work will be being done.
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I have done a good work. Job5 J A good work has been done.
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| had done a good work. Jol5 38 A good work had been done.
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72 Example 14:Fortunately, a group of astrophysicists has been proposed a means of detecting cosmicNeutrinos
1 2

by harnessing the mass of the ocean.
3 4
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7= Example 15 The fundamental similarity of liquids and gases becomes clearly apparent when the

temperature and pressure.......... .
1) raise somewhat 2) areraised somewhat 3) somewhat raising 4) somewhat raised
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